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a’4+/3B=+6 e ©)
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O-@ &Y  a?—p*—3(a—p)=0
BHETSE (@ pflath)—3]=0
axBno a+p—+/3=0
UhoT a+pB=43
D+ @ &V a®+8%+/3(a+B8)=2/6
ot (a+B)?—2aB+/3(a+8)=2/6
WAz (V3)*—2aB++/3 - /3 =26
UhoT aB=3—/6
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Ve E A e

V3 =173 THEMNS 243 =373
&oT a=3,
b=024+3)—a=(2+3)-3=3 -1

2 a+26+b24+1=3+2(/3 —1)+(/3 =1)*+1
=3+2/3 —2+(/3) =23 +1*+1
=6

a+2b+b%+1=a+(b+1)7

=3+{(v/3 =1 +1}?

=3+(/3)?
=6
1) |x42—|x=1>x oo D
1] z<—20e%, OlF —(x4+20+(x—1)>x

£oT x< =3
Ik x< -2 LOBEREIE x<-3

2] —2=zx<1Dl%x, Ol (x+2)+(x=1)>x
&oT x> —1

Zhé —2=<x<1 L OHLBEEF I —1<x<1
3] z=21DeXx, OIF (x+2)—(x—1)>x
XoT x<3

Zhe x=1 DLBEEHFE T 1=x<3
(1], 2], [3] 6, fRlX 1< =3, —1<x<3
2 |[x=1=2[=3=0 - @
1] x=210kE |x—1=x2—1Th2056, QX
(x—1)—2/—3=0 J4hbb [x—3=3

EoT x—3=43 IhafEdk =6, 0

x=1 22T OIE x=6
2] x<1DeE |x—1l=—=(x—1)Th2156, QX
|—(x—1)—2/=3=0 FTabbL |x+1]=3
oT x4+1=43 IhzfEd L r=2,
<1 2T DE  x=—4
1, [2] 6, fRik x=6, —4
Tx—5>13—2x - ©)
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3
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BASICRISE

ROBEBIERAME, BMERDNEZThERD L, /2, TOLID x DfEERD &,
1) y=2x*4+8x+9
(2) y=x"—2x (0=x<3)
(3) y=—3x—2x+4 (—1<x<2)

ROTERERIT,
1) 5<x?4+4x2<21 (2) 2x4+3<x%<5

2REB y=x*+ax+b DT T 7% yEIHRNZ 2 RIFRTBENIL b L, yEHZEALT
SIS EN X, FHIZ xEIARIC-3 I EABBL/ZL 25, y=2*DIF7—HKL
7=, a, b DEERD L.

75IR3E, I, 2 5), (3, 9 2EBES %2 REKERD L,

STANDARDESS

2RAER Ax’+ ax+56<0 0)@@79§1<x<% THdeX, 2RFER bx’+ax+4=>00

fift % kb &,
(6] a i3T5, B y=24"—dax—a (0=Sx=2) ITDVT, ROBMIEZ L.
1) MEZRD L, 2) mAEZRD X,
ROFZMaRET X, B m OEDOHF %KD K,
1) 2RFER 22— (m—1)x+3>0 DENTRTDOERL 15,
2) 2RAER —x2+2mrx+m=0MfEEE D,
2RHBER x’—(a+2)2+a2a+1)=0 DEZRZ 2DODEKEE a, fLTHLE,

1<a<%<ﬁ BT ES 1T, M o DEOREEED L,

[9] 2 AR 22— 2mx+9=0 N 2<x<4 DEHETELRDZ 2ODERREEO L X, W
m DIEDEIF % K X,

2RARER 22+ 2ax+2a%+2ab+4=01F, FaBLD &> BRERETH > TEEHR
fREE 2N END, EER D IFEARERICHZHRD L.

M f(x)=—x+ax+a—2, glx) =2>—(a—2x+312DVT, ROKMEEE~T LT,
EH a DIEDEIFE Z TN ENED X,
(1) A% xDEIZRHLUTE f(x) < glx) DY I,
2) AR x, 2, DMEIZHUTE, f(x) <g(xy) DY LD,



HFEO F2EEER KRB 2 /12

[12] % IZDVTDRD 2 DDFFER
2x2—3x—5>0
x*—(a+2)x+2a<0
I TR x N2E 1 DFETI L, Ea DEDHFE L DL X DEH «
DiEZ KD X,
13 2 XFRER x2—2ax+a+2>0 7 —1<x<1 DEETHEIZRY IO L X, T a DED
#ipH 2 3ked &,

2n+1
w1, 2, 3, e Drx, OB y= 3 |x—H ODRMEL ZhE 525 x DIE
k=1

R L.
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(1) BAMERZY, r=-20% XHU/ME 1
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(=]

o] [

FERE EE [

m = (@ =&
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B
W3
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ALY

B
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M

2) 2=3DLEIFXES3, x=1DLXB/ME —1
3) x:—% DL X Bkl % BMEI 20

(1) =7<x<-5 1<x2<3 (2 —-/5<x<—1
a=6, b="7
y=x2—x+3

xgé, 1<x

1) e<0D&x x=0TCHR/ME —a,
0<a<2DrX x=a TER/ME —24’—a,
2<a D% x=2 TCHR/ME —9%a+8
allnex x=2 TCHEKE —9%+8;
a=10Drx x=0, 2THRAE —-1;
1<aDiXx x=0THEKAE —a

1) 1-2/3<m<1+2/3 (2) m=-1, 0=m

J2 3
5 <a<4

—
Do
-~

25
3<m<?

—2<b<L2

(1) —3<a<3 (2 —2J/2<a<2/2
—3<a<-20DLE x=-2, 3<as4DL X x=3
—1<a<3

1) (=) 1) \
2 x=n+1DLEB/MEn*+n A
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1) y=2x2+8x+9
=2x*+2-2x+2%)—2-2°4+9
=2x+2)°%+1
E0T, x=—2DrIXHRMELl1 R LB,
BAMEIRRW,

2) y=x*—2x @
=(x>—2-1x+1%—1% %
=(x—17°*-1 (0=x<3)

£oT, VI 7% (K) DEFEIBITH 5.
Wz, x=30D& XHKIES3,
r=1DLXF/ME-1 &L3B,

X
3) y=—3x2—2x+4 3)
_ _al2i0. 1 i)z (i)z
= B[x +2 3x+<3 }4—3 3 +4
2
=—3<x+i> +£ (—1<x<2) *
3 3
EoT, 79713 (X OERFEHSTH 5,
PRIz, x:—%m%%mﬁ%&aéo
B/AMEIX D,
5<x2+4x ...... @
2] (1) 5<x?+4x<21 5 1
. <> x2+4x§21 ...... @
O»"5 x22+4x—-5>0 EoT  (24+5x—-1>0
W ZIz x< =5, 1<x «oeeen ®
@76 x4+4x—21<0 EoT  (x+7(x—3)<0
Wz —T<x<3 e @ @
® & @ DEEHFH %KD T —@-Z Z-@—
—7<x< =5, 1<x<3 — ——»
-7 -5 1 3 x
2x+3<x2 ...... @
2) 2x4+3<xE<5M5
<> x2<5 ...... ®
OFA) 22—2x—3>0 LT (x4+1(x=3)>0
Wz x<—1, 3<x eeeen ®

@ns5  x2-5<0 $2—5=0%fFE< L x=+.5
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£ T, @ DfiRix

—J5 <x<AB e @
® & @ DIEFFE % KDT —% \ C®_

—/5<r<—1

BEIEMIIZE 5.
y=x*DTT 7% xBHARIZ 3 ZIIEIBETDI L, VI T7DARRE y=(x—23)*
DTS5 7% yENZE LU TR E TS L, 75 T70ARBRIE y=(—x—3)°
Thbhb y=(x+3)°
IDTT 7% yEARIC -2 RIIETBE TS L, 77 7DABRRNE y=(x+3)2-2
ThHOL y=x 46247
NN y=x*+ax+b &—HTE2M"5 a=6, b=7

kD2 2 REHE y=ax’+bx+c T 5,
ZTDTITIMN3RA, 3), 2, 5), 3, 9&EEEINS

3=a-1°+b-1+c¢ a+b4c=3 e 0
5=a-2°4b-24+c T2RDOL {da+2b+c=5 - ®
9=a-32+b-3+c¢ 9a+3b+c=9 - ©)

@Q-O»n5  3a+b=2 - @
®—-@»5 Sat+b=4 - ®

B®-@»"5 2a=2 £oT a=1
@5 3+b=2 EoT b=-1
O 1—-14¢=3 EoT ¢=3

UEMNoT, kDD 2REHIE y=x22—x+3

ZHENS, y=4x +ax+b DT T 7% 1<x<% DEFET v 8 L) TEIZH D,

Frbb, 2801, 0) @ o)&a@éw} d+a+b=0, 2745+%a+b=0
THERELE  a=-9, b=5
EoT, AERbx’+ax+4=20 1%
5x2—9x+4=0
St (5r—4)(x—1)=0
TNER & xgé, 1<x 1 5 x

[6] y=24—4dax—a 2ZWT B L

y=2x—a)?—2a’—a
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ZOBYIROEIIER x=a TH 3,
1) [1] e<0DEx
77 71 (K] OFEFH DL 51245,
£oT, x=0TR/ME —a L5,
2] 0<a<2D¥
77 714 (K OEFHAD L1235,
XoT, x=a TB/ME —2a*—a %L 3,

(1] y 2] :
—9a+8

a %%
o Jl02 x
'.'-.5.1.'...‘. ...... —2a 2_ a

3] 2<amrX 3] 1Y
75 713 (X) DERGERSY :
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£-oT,
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>
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PAEMNS

a<0prx x=0CHR/ME —a
0<ae=z2Mr % x=a TE/ME —2a’—a
2<a Dk x x=2 CR/ME —9a+8
2) EHRBOFLROMEIE 1
1] e<lDr X
75 713 (M) OEFRAD L S 12785,
£-T, x=2 THRKAfE —9a+8 %L 5,
2] a=10Dk X
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75 713 (M) OEFEBRD L 12785,
&-oT, x=0, 2THRKIE -1 2L 5,
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x
-3
3] 1<aDk X [3]
75 7% ([X) DERFERD
DE3ITRB, 3 *
£-oT, ¢
1r=0 CHAIE —a
23, —9a+38
N
—2a’—a
PLEMNS

a<lDex x=2CHRAME —9a+8
a=1ne%x x=0, 2THEKAE —1
lI<ani % x=0TERKfE —a
1) 2> DREBIIETHENS, D2 RTERDENTNTOERL 25 /2DDHEF
DEMIE D={—(m—1)?-4-1-3<0  FThbL m?-2m-11<0
INEBOT  1-2/3<m<1+2/3
2) ZD2RAEZXNERE E DI2DODBRE+HEMEI,

y=—242mx+m DT T 7N B IHEHREED /\
ZLThB, >
Thbb  D=(@m)i—d-(=1)-m=0 // \\x
EoT Am?+m)=0

Wz m(m+1)=0

UMoT m=—-1, 0<m
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(
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2<x<4 DEFHLERD 2HTRDDILTH S,
flo) =0 D¥BIRE D L35k, RDBEMIX
D>0
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ZOFRERD, EDXD7% a DEFHEIZNUTERY LD L DR b DEOHFZ2RDODN
X,

LEoT, a’+2ab+4=0 DEFIRE D, b5 5 & %=b2—4<o

INEMNT —2<b<2
(] 1) g(x)—f(x)=2x"—2a—1)x—a+5

AR xDEIZRHUTE f(x)<g(x), ThbH glx)—f(x) >0 DY LD /DHDH
BE+a5x D={-2a—-1)P—-4-2-(—a+5)<0
By 5L a?—9<0 £oT (a+3)a—3)<0
U7=m3oT —3<a<3

2) EA x, 2 DEIIHUTE, f(x)<g(xy) DY ILD72DDNBE+HEED,
flx) DERAELY g(x) ORIMEDFENREI NI L THD,

2

_ (. _a\, a® (. a—2\* (a—2)
flx)= <x 2) + 1 +a—2» g(x)_<x 5 > 1 +3
a’ (a—2)° 2
£oT T+a—2<— 1 +3 By 5L a*—8<0
W ZIZ (a+2v/2)a—22)<0 U=dioT —2J2 <a<2J2
19 2x2—3x—5>0 - O, 22—(a+2)x+2a<0 - @ 75,

O DELERBIHETZ L (x+1)2x—5)>0
LeniaT, OOmIE 1< —1 £/ %<x

QNEDERBHETZ L (x—a)x—2)<0
@ DIRIE, ax2 DL XFEEL,

a2 DX a<x<2
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Thd,
EoT, Ot @ 2FEFIHEAZTER x BN/ 12I2R5D1%, ROZFBETH 5,
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flx)=x*=2ax+a+2 B L
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al¥—a*+a+2

y=f(x) DT 7EFITHDOBIHFRT, BMIZER x=a TH5,

al—-10Dkx
y=f(x) DV TIZEDED LS 2B EM 5,
—1=x=Z112BF5% f(x) OR/IMEIX
f(—=1)=3a+3
£oT, REANEIKYILDOL X
3a+3>0
WwZIZ a>-—1
Il a< —1 BRI,
—1<as1Dr %
y=f(x) DF T TIZEDEDE S 125575,
—1=x=1128F3 f(x) OFB/IMEE
fla)=—a’+a+2
£oT, REANEICKRY IO X
—a*+a+2>0
ERAY/ ) a*—a—2<0
£oT  (a+1)e—2)<0
WwZIZ —-1<a<2
—1<a=1 L OH@EHFHIL
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y=f(x) DT Z 7IIEDPRD I SI12250n5,
—1=x=Z1128F5 f(x) OB/MEIX
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£oT, REANEICKYIIDOL X
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1]~ [3] &V, kDD a DIEDEHFHIL
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(1) xZ1Dex
y=(1—2)+(2—x)+(3—x)=—3x+6
I=x=20Dk %
y=(x—1)+2—2)+B3—x)=—x+4
253D X
y=(x—-1)+(x—2)+(3—2)=2«
y=(x—1)+(x—2)+(x—3)=3x—6 O 123 4 X
INSERRTH LMD EDITHRD.
2 [1] zZ1oex

y=2Z_+11<k—x>= —@n+x+Cn+1n+1)

—2n+1)<0THBEM5, x=10DL XH/ME
—2n+1)14C2rn+1)n+1)=2n+n% & 5.
2] I<x<I+1(I=1, 2, oo , 2n) DL X

] 2n+1

(x—k)+ X (k—x)

1 k=1+1

y:
k

=lx—%l(l+1)+%(2n+1—l)(2n+l+2)—(2n+1—l)x

=(21—2n—1)x+%{(2n—l+1)(2n+l+2)—l(l+1)}

=21—2n+1)jx+2n*+3n—12—1+1
i) 1IsnDb X
21— 2n+1)<0THE056, x=1+1TH/IME
21—Cn+ D)+ 1) +2n%+3n—1*—1+1
=1 —2nl+2n*+n
=(l—n)+n*+nkls.
HIZ, ZORFIZISnIZBWT, I=nDEXR/MEn +n 2L 5.
(i) n+1ZIS2n D X
21— 2n+1)>0TH 2056, x=1THR/ME
21 —2n+D)l+2n%+3n—12—1+1
=12—2n+1)+2n%+3n+1
={l—(n+1)P+n’+n 2t 3.
HIZ, ZORFn+1ZIS20 2BV, I=n+ 1D XB/MEn +n 2L 5.
3] 2n+1=<xDE X

y=2§:<x—k)=(2n+1>x—(2n+1>(n+1)

2n+1>0THHMNS, x=2n+10D¢ XH/IME
Cn+1)2n+1)—2n+1)(n+1)=2n+n 2 2 3.
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BASICRISE

0°<0=<180° £ § %, RD=MALDIEZE KD &,

(1) tanﬁ:%@t%, cosf, sinéd

(2) tanf@=-3D& X, cosf, sinf
0°<O<180° DL E, RDES7% 0 2Rk,

(1) 2sinf —1=0 2) J2cosf+1=0

3) 3tand =+/3 (4) (cos@ +1)(2cosf —1)=0
AABCIZBWT, a=+6, A=60°, C=45" DL %X, ¢ LAEMADEE R 2RD &,
AABCIZBEWT, ROEDERD X,

1) ¢=4, a=6, B=60°DL X b

2) a=3, b=+2, ¢c=/1T D&% C
AABCIZBWT, AB=2, BC=+7, CA=3 %3, AABC DSMEMDERER &,

REMDEE »r 2R X,

STANDARDRISEE

[6] 6 H30°<6<90° H> cosﬁ—sin(?:% i/~ 9 L X, cosf +sinf, cos6 +sin’l

Dz KD &,
MIZHET 2UAR ABCD I28WT, AB=2, BC=2, CD=3, DA=4t7953,
ROMEERD &,
(1) ACOEYX (2) AR ABCD DOEHE
3) 22DXAKR ACL BD DRF% E £ §5& BE: ED Dt
a=5, b=6, c=4D AABCH»H%, THA A D_%5#Li0 BCHORH% D, 34 BC
DHREMETEEX, 9 AD, AMOEI &k L,
[6] AABCHSROSRMEER:T L ThIL, LARZATM.
(1) sinA =sinB
(2) sinAcosA =sin BcosB
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EHEER

ADORD X H1Z 1 DDEREICHSKEHE L
D3FA, B CHrSIUTED DMA%HEIS L,
FhZTN45°, 45°, 30° Tho/=&\\S,
AB=100m, BC=100m TH5 & X, LD
EXrkd &,

[l AB=4, AE=AD=3 THIESK

D
ABCD—EFGH iz8\WT, JCG &I HD % 1:2 ' ¢
LHATERETNENP L QLTE, oLy, AL 5 e

7 =1 ' 7

EP= T, cos ZEQP = THhb, '
x5z, AEPQ OE#EIL T, SHk :
AEPQ DL Thd, £/, HADS E F
AEPQ Iz FA L EEEOEXE TH3,

@ AABCIZBEWT, TEA LA, 4B, LCOREXXEZNENA, B, CL, ¥BC,
CA, ABOEX&2ZhZTha, b, c 235, ROBRAVEILTI L X, AABCIEY
D& S BHD=AFN.

asin A(sin B —sinC)=»bsin?B —(b+¢)sin BsinC — ccos?’C +¢

|E| WA ABCD I2B\W\WT, 3UDEXE2ZNZTN AB=5, BC=8, CD=4, XA#KF AC

DEI%® AC=T7 75,

7 NIE
ZDk X, cosLABC=, sinLABC: Thb,
ZIT, AW ABCD &R THD LT 5,
RO[ A JIEFo O~Q »o, [ 7 |1tz @, @ »54TIIFEL60DE—2FD
CD[ # |AB-sin ZABC TH5H5, [ 7 | THs,
0 < O = © >
@ AD & BCHFT @ 50 AB XL CD AT

LER-T, BD=| ¥ |{/| 7 | TH5,
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